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a=[1-2-1-474.0--1-1031-2-2-371-0-3-2]
disp{inwvi{a))
n=size{a,l)
c=[a,eve(n,n}]
for (k=l:n-1)
for (i=k+l:n)
c{i,zi=ci{i, :)-{({ci{i,k)/clk k))*c({k,:))
end
end
for (k=n:-1:2)
disp('k-",k)
for- (i=k-1:-1:1)
c{iysi=ci{i,:)-{({ci{i, k) ok, k))*c{k,:))
disp (i)
end
end
for i=l:n
cf{i,:)=c{i,:) fc{i, 1)
end
Fisp{c?
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disp(a)

end
end
disp{u)
disp(l)

b=[113; 54 1; 3 41]

n=3ize(a, l)
m=3ize (&, 2)
=eye ([, o)
u=zercs (n,m)
for-i=l:n
for-j=1:m

if {i<=j) then
=0
for k=1:1i-1
s=3+1(i, k) *ua{k,])
end
uf{i,ji=a{i,j)-=
elae
g=(
for k=1:j-1
s=3+1({i,k)*a{k,])
end
1{i,3)=(a{i,J)-=)/ a(l,d}
end

disp{l*u)



